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B.A. Honours 1st Semester Examination, 2019

PHIACORO02T-PHILOSOPHY (CC2)

Time Allotted: 2 Hours Full Marks: 50
The figures in the ma}‘gin indicate full marks. effe T FE WA 7“)5777»’ [ ¥ 1
Candidates should answer in their own words FSrERdial fres ©r Iel TET NFHING T
and adhere to the word limit as practicable. Ceq FRE)

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10
e @-cit A5l 2ivs Ted mes

(a) What do you mean by product class?
A @ FeT0S 1 G 9
(b) What is meant by ‘argument form*? Give one example.

e SIS fF Q@A 2 o Trrzaed wie

(¢) Symbolize the following:
2SS FAN

(i) p,only ifgq.
p, &A Tt g.

(ii) p is the sufficient condition of ¢.
p, g-a3 *fig =S|

(d) What is the negation of a contingent statement form? Give reason for your
answer.

3T o TR e e 2@ 7 (orie TeTas T e we |

() Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram:

All who are educated are not liberal

e AR T FPITS e S0 (SRioeEs ST e Fls
1 RiffFe e Twes! w1

(f) Why is truth tree method called a decision procedure?
FoP A SAEfrF @ e oiafe e & 9

(g) What is ‘Indirect Proof” (I.P.)?
AT eNlel EfS SIS M ?
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(h) If 4, B, C are false statements and X, Y, Z are true statements, then which of the
following are true? :

% 4, B, C Ryl 649 27 @R X, Y, Z 9] 541 27, Bizge ffeiReeln wy @me
e 9
(@) {[42(B2C)]2[(4-B)>Co[(Y2B)n(Co2Z))
(i) ~{~[(B-~C)v (¥ -~2)[(~CvX)v(Bv~Y)]}
(i) Do all categorical propositions have ‘existential import?
14 feraeorms ot 6 “ifes Ter =iz 2

(j) What is propositional function? Give an example of it.

TEACTE FIE T 2 G0 Suizge wis |
2. Answer any fwo questions from the following: 5%2=10
ferfere @-ie 7f5 2w T whes
(a) What are the differences between material equivalence and logical equivalence? 5
T@ars el @ (e Aiefoia sty “ndmef & o
(b) Determine whether the following statement forms are tautologous, self- 2 12_ )

contradictory or contingent by means of truth table.

TSR AR A7 AFTFR T 72 37e), Tosfen 7 weifes o ey seats
@ [p2(g=p)I=lgog)>~(ror)]

(ii) [(p-g)>r]=lp>(g>r)]

(¢) Supposing that 1 and O propositions have existential import, how much of the 5
traditional square of opposition will remain? Explain.

BT [ @R O IR ARFEE ©lewrd o T Faca eiore R sgrsnes
FOLYF TIE AT 9 Y FEI

(d) Use the method of Indirect Proof (L.P.) to verify that the following statement is a 5
tautology.

AT &Y PIafod R @Ae cﬁﬁaﬁﬁw@ﬁwsmn
[(AD>B)-A]>B

Answer any fwo questions from the following 15x2 =30
femferie -t 726 evia Seawe
3. (a) Test the validity of the following arguments by Venn diagram indicating the 55

mood and figure of each of them:
S 8 W Trae 70 e e n tare onfioes s [l st

(i) Some children are not considerate, because all children are self-centered and
no self-centered person is considerate.

@I (14 five Rzes 73, T e Fes aN-E s, 97 @F SREe afes
v 77

(ii) Only teachers were present in the seminar. Some scholars were present in the
seminar. So, some scholars are teacher.

e PR G Boifee f2en g siaaes ciRmie Soifis e Fwar,
g oiaEs e
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(b) Test the validity of the following argument by truth table method:
AR AR fEfee Yfefte auet vl Fte
Uos(VvW)
V-W)yo~U
n~U

4. (a) Determine whether the following statement is tautologous by using truth-tree
method:

oIl Amf&e A2l fHesre I Toswe) & 71 fefy wcane
[A=(B—>C)]=>[(A—>B)—=>(4->0)]
(b) Use truth tree method to test the validity of the following argument:
oIt #1afe eirate @ fese Ieba tauet s s

. A< B
(@)
: A—>B
(i1) We shall fish if it rains and swim if it does not. Therefore, we shall fish or
swim.
Al AR 499 I B 2 9=k SR Ao S 7 ot 9 7w Hear wwEl e 499
G2 Aot S5l
(c) Use truth tree method to determine whether the following propositions are
consistent:

PN Ao MR fATae paef swikafes [ Rew s
A->C,B—>C,-A4,-4->-C

5. Construct formal proof of validity of any three from the following arguments
(Do not use C.P. or I.P.):

e @~ foafe 3fes Siwers (ee! emid $e1e (C.P. 1 LP. T2 341 &
RU)
(i) Jv(~J-K)
S g
S(L-DN=J
(ii) (Rv8)>(T-U)
~RoO(Vo~V)
~T
s~V
(iii) G/ . Hv~H

(iv) If either Socrates was happily married or else he wasn’t, then Socrates was a
great philosopher. Therefore, Socrates was a great philosopher.

M @5 Y @, T MEFHerR [RIRe Sk e Sian e wigal f&e =1, ofeE i
GG W RIK(E BT | SIS HerbH aae Wi+ v e |

4+4

Sx3 =15
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6. (a) Use the method of conditional proof to verify that the following is tautology.
A3 el mwfea MRy e (@ fsfrie e 7o
(ADB)>[A>(A-B)]
(b) Use the method of Conditional Proof to prove the validity of the following:
A5 e mfon AR ks Ifeha tare! g s
JD(K>~N)
(M-N)DN
O>(M-N) /.. Jo>(K>~0)
(c) Use the method of Indirect Proof to prove the validity of the following argument:
AT e 2afod MR fREfiRe feiba tae! e st
A>(B-C)
(BvD)DE
DvAl:E

(d) Prove the invalidity of any ome of the following arguments by the method of
assigning truth values.

7] WA afox AR fEkie @-c@i 9 it 3o stagst e Fe
(i) M>(NvO)

No(PvQ)

O

~(RvP)/: ~M

(ii) If John is intelligent and studies hard, then he will get good grade and will
pass the examination. If John studies hard but is not intelligent, then his effort
will be appreciated; and if his effort is appreciated then he will pass the
examination. If John is intelligent he will study hard. So, John will pass the
examination.

G I I T ORI FCE A, SR (T SIE (@6 A @R 2R ol
T W T oA 7+ e I w1 27, O ol GRS 1Rl e 2| aR
I O (58I I3 A O (T SR 2 FA0E | A T i 2 Ord (o HAfw
AL G A HOAR, G A 2 FAC |
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